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sinmxcoshxdxit sin is raised to an odd power ,
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it co , is raised to an odd power
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cos & sin are both raised to an even power,

Convert everything to cosines , and use

trig identities
,

or integration by parts,



fseixtuixdx
da

U
"

- Let a
-

- tax
,

du -

- seixdx
=/ seem

-

2x
tannxiseixdx

- This will only
= fattwixt tuixseixdx work it see

is raised to
= I Ctu ) u

"

du an greenpower

Sseixtaixdx
when Sec is raised to an even

power ,
use U

-

- tanxdx
,

da -

- seixdy

£ secant  is raised to an area yourExample
gseebxtuuxdx

u
' nd u= tax doeseixdx

=fseixtanxseixdx-=/ Cttan
.

x )
"

tan
'

xseixdx

= I C Itu 'T u
'

da
-

--



m

I secmxtanhxdx a- sax
U day due secxtaaxdx=/sein

- '

x tan
- '

x ( seixtanxdx ) -

-

This will wook
= I sein

- '

x Cse :X - IF secxtanxdx it n - I is even
,

= Su "
( y

-

. it
#

du
it a is odd

it taa is originally

If see is
raised If tag is

raised to an odd

to an even Pawel raised to an power .

odd power
a-
transfix I " "

a.
sect

du :

I secnx funny d
da -

- sextant

u = sectExample
gseixfaax dy du -

. secxtanxdx4
u ride

=/ seixtailx secxtaaxdx

= fsedxcseix-Dsecxtaaxdxo-fu.la '

- Nda

The difficult case is when Scc is raised to an odd

power and tan is raised to an even power .
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step # I



The difficult case is when Scc is raised to an odd

power and tan is raised to an even power .
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Ssecxtaiixdx

step # I

convert everything into integrals of odd

power , of see .
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For higher odd powers of see
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we use integration

by parts .
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Section
Find the area of a circle of radius R

( R is a constant )
,
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